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Note: In questions 1 to 20, a question is followed by data in the form of two
statements labelled as (I) and (II). You must decide whether the data given
in the statements are sufficient to answer the questions. Using the data make
an appropriate choice from (1) to (4) as per the following gumdelines.

(a) Mark choice (1) if the statement (I) alone 1s sufficient to answer the
question, but (II) does not answer the question.

(b) Mark choice (2) if the statement (II) alone 1s sufficient to answer the
question, but (I) does not answer the question.

(c) Mark choice (3) if both the statements (I) and (IT) are sufficient to answer

the question. but neither statement alone is sufficient.
{d) Mark choice (4) if both the statements (I) and (II) together are not
sufficient to answer the question, and additional data is required.
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What i1s the value of x ?
x Q08 DN DO ?
(1) b A | R [ S

(I)  x 1s a positive integer

x 28 O ¢ dows

Options :
1. % 1

2.8 2

3.3

4. % 4

Question Number : 2 Question Id : 7856743331 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OB 0F DT°§ed

Is AABC aright angled triangle?

AABC 2,8 ©05D (3202337 ?

() AB=3cm. BC =4cm, AC =5 cm
(I} 2( = 45"
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Options :

Question Number : 3 Question Id : 7856743332 Question Type : MCQ Option Shuffling : No
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
DT 0F DT°§eh

If a = 0, what 1s the value of a?

a>0 0N, a DN DOH?
(I) —-13<a<12

(I)  3,a,12 are in Geometric Progression.

3,a,12 @0 HEIBAS &wr) om.

Options :

4. % 4 gcollegedunias
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OT0E DO°§eh

What 1s the area of AABC ?

AABC O30E) 33350 065 ?
(I} #A=#B=60"
(I) AB =6cm

AB = 6 DO. .

Options :
1. % 1
2. % 2
3.3

4, % 4
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Data Sufficiency
OB 0F DO°§ed

- ’ ’ . : - . &
If a,,c,d are in Geometric Progression, What 1s the value of - ?

a,b,c,d 0 HE (3G S &5). £ TE) DEND 0 ?

(I)  The common ratio of G.P. 15 4
e 3G TE) ATy D) 4
I) a+b<c+d

Options :
1.41
2. % 2

3.# 3
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How many days will the person A take to complete a piece of work?
A % 558 25SE DA ) T30S rOToHiON?

(I) B alone takes 5 days to complete the piece of work.

B 258 @ HA (0T 0H06% 5 Faren ST0erd.

(I) A and B together will complete the same piece of work in 3 days.

A 00N Ben a0Gr 02 & 53 3§22 530 Sonrierd.

Options :
1. %1

2. % 2

3.3

4. % 4
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How much does it cost to level a rectangular field?

HY HSIPTE D00 DD DONTAE 0 PG Yh?

(I) ~ The permeter of the field 1s 1600 meters.

&3 DO &NOBO T30 1600 o).

(I)  The cost of the levelling 1s Rs.100 per sq. meter.
2 DONTAE 9T DAY 57 3. a. 5 8. 100.

Options :
1. % 1
2. % 2

3. 3

4.¥ 4
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If the average of six numbers 1s 80 how many of the numbers are equal to 80?

e305) 0PSO LN 80 0NN, ©90NE Y HOPIEN 80 8 Ks5PeSe50 ?

(I)  None of the six numbers 1s less than 80.

&5 38 DOPIOS ) 28], D03 SFT 80 §5) 8038 .
(I)  One of the six numbers 1s greater than 80,

&5 38 OO 2,563 80 85) B,

Options :
1.9 1
2. % 2
3.% 3

4. % 4
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Data Sufficiency
OT0F DT°§adeh
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What are the two positive integers whose sum is 2562
H0P5O J00 256 TN DO &0 €8 363 3¢ 0PSB 2
(I)  GCD of the two positive numbers 15 8.
Qe oJ°Q 0RO (. ar.2>. 8.

(I) LCM of the two positive numbers 1s 1400.
e a7 0§ EP.19. 1400

Options :
1. % 1

2. % 2

3.3

4. % 4
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Does the line LM pass through the point (0, 1) ?
LM @ QO$DD (0, 1) Do) HoT SfehroT ?

(I) The y-intercept of the line LM is 3.

O LM G30E), y-e90653 00 3.
(I) The slope of the line LM 1s 1.

LM D9 aren 1.

Options :
1. % 1

2. % 2

3.3

4. % 4
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Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
O 0F DO°§aeh
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In the adjacent figure what 1s the length of the side 4C of AABC ?

98), D0 MBC S AC BE, FGBe) 0?4

(I) AB+BC=15cm

AB + BC = 15 0.a).
(I) AB?>+ BC? =196 cm

AB? + BC? = 196 0. 2.

Options :

Question Number : 12 Question Id : 7856743341 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OB 0F DO°§ed
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In the adjacent figure, what 1s DC?

58) HEI0S' DC DO ?

r..:\. '_.’ 2\ .
A 45" ) i_

(I)  Height of tower AB = 80 mts.
00250 AB ) = 80 o).

(I) £BAD =60°

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 13 Question Id : 7856743342 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OT0F DT°§adeh
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What is the length of the train ?
es DO &ra30ed ?

(I)  The speed of the train 15 60 kmph.
es BeN S0 (102350 &.00.60.

(IT)  The length of the platform is 50 meters.

e PO &PCSS) 50 Q.

Options :
1. % 1
2. % 2

3. 3

4.9 4

Question Number : 14 Question Id : 7856743343 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
O 0F DO°§aeh
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What 1s the Mode of the data concerning a set of observations?

§), D0FOIOD O GB0F0 TE), 2reT0EE0 0 ?

(I)  Mean of the data 1s 81.

es (S&@ 040 B30E) @08 0G50 8.
(II)  Median of the data 1s 80.

&3 (58040 TB0E) DG5S 0 80.

Options :
1. % 1

2. % 2

3.3

4. % 4

Question Number : 15 Question Id : 7856743344 Question Type : MCQ Option Shuffling : No
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Data Sufficiency
OB 0F DT°§ded
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What 1s the value of 8 ?

8 OINE) DN )OEH ?

(I) 2tand
1 —tan%6

(1
o<

== \J:3

Options :
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In a constituency having 2.5 lakhs of voters three candidates A, B and C contest the
elections. A won the election by majority of 25000 votes. What is the polling
percentage ?

25 ©50 4605 00 28 Aras STAE 20T IS whHid
253N A, B HOOH € & FeS ToMEK. 25000 4,0 esOF S A
DB0D0 TOOT. @) FAON FTeh0eh ?

(I) B got 30000 votes.

B sP00 2,62 30000.
(IT)  C got 45000 votes.

C 0O 2,6 45000.

Options :
1. % 1

2. % 2

3.3

4. % 4

Question Number : 17 Question Id : 7856743346 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Data Sufficiency
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Amuth drew a line n the xy-plane. Is that lime perpendicular to the x-axis?

0-6006 @M 28 TP M. & U9 x-0pdE OO0 G0N0 ?

()  The equation of the line drawn by Amithisx =9
9D T NOHOHA By x =9

(I)  The point (0. 0) 15 on the line
206 (0.0, & TP 3 &OENOA.

Options :
1.9 1
2. % 2
3. % 3

4. % 4

Question Number : 18 Question Id : 7856743347 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OT0F DO°§aeh
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Six fiiends 4, B, C, D, E and F are sitting around a round table in some order all facing
centre. Who 1s sitting between 4 and B ?

asHS DEDED 4,8,C,D,ENO0 F 28 Dol 20 ey
FOITE0PO™ 28 13005 ST, 4 OGN B ©
S0 )0) A Dad?

(I) D is sitting opposite A,

AR ™D i) ) A

(II) E 1s sitting opposite C.
C 5) QAT E S ))&

Options :
1. % 1
2. % 2

3.# 3

4.4 4

Question Number : 19 Question Id : 7856743348 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OB 0F DT°§ded
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Is the positive integer K divisible by 135?
56 33°Q SOMEK . 135 B 2°NOTS 22RO

(I) 15 divides K

KD 15 2700,
(IT) 45 divides K

45, K & 2@AN0A.

Options :

4. 4

Question Number : 20 Question Id : 7856743349 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
DT 0F DO°§eh
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The total ages of four persons A, B, C and D 1s 191 years and the sum of the ages of A
and B 1s equal to the age of D. What is the age of A?

SENHS S5DEN A, B, € HOAND DO NE) SO o 191
206350700, A, BO s3I0 IO 00, D 30NN I dedFPI0. A T3y,
0D ) D0Oeb ?

() € 153 years older than B.

B §07) C. 300968 Y070 0.
(I) B 1s 6 years older than A.

A §) B, 6 00365 Y0700 Q.

Options :

1.8 1

Sub-Section Number : 2
Sub-Section Id : 785674370
Question Shuffling Allowed : Yes

Is Section Default? : null
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Correct Marks : 1 Wrong Marks : 0
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Problem Solving

QDo A FEN -

(a) Series L_%E‘&)@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HB% O (D)0 (HB TS DO 8O (©5T°0
B ©0Z0°0 HOOHN Do) Dereren 5008, 2.8 BeveS’
EAN0DS OE 0 NFTE BSST re30wrO) ) S0EN0D. €
O§Td) ST HHA0D FTOOD OIS T3S
000G,

FRT: OPQ : GIK :

(1) FGH
(2) GHI
3) FUI

4) GHK

Options :
1.9 1
2. % 2
3.% 3

4, % 4

Question Number : 22 Question Id : 7856743351 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator :

: N.A Think Time : N.A Minimum Instruction Time : 0 gcollegedunias



Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD FEN-P
(a) Series LfﬁE‘&D@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HEK 10 1HFLOS (H3 IS DO 280 (95,07
B 8070 SH00D0 D0WIO) D) E0)6Y). 28 BSS
5000 OF 0 HTE BSS T 30T ) S0EN0D. e
O8T) BT HHA0D FOOD TS T3S
J*O00E.

2197 13729
(i 11
@ 12
3) 9
() 7
Options :
1.8 1
2. % 2
3.+3
4, % 4
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Problem Solving

QoD -

(a) Series LfﬁE‘&}GA}

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 SGE HO (DO (HS TS’ Do Bebe) (98,07
S 8070 DO DOPEO) DTN 0. 2.8 B’
50D ©E60 HFE BSS T 30w ) S0EN0D. €8
O ST HHA0D TIOD TS T3S
SUReloin]e]e}

BEYOND : :: WOULD : TLRIA
(1) YAWKLA
(2) YCXMNA
(3) YBVLKA
(4) YVLBKA

Options :
1. % 1
2. % 2
3.3

4, % 4
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Problem Solving
QoA FEN -
(a) Series L_%E‘;D@i}

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HBK 110 1H910 (S IS’ DO 240 (95,07
S @070 DO DOPEO) DTN 0. 28 BSS’
50NN ©F.60 NFE BSS T are30TrO) ) S0EN0D. €
O8Td) BT HHA0D OO TS T3S
J*B0V0B.

PLAN : MIXK : MAPLE:

(1) HNOJX
(2) HYBNIC
{3} JYNEPC
(4) JXMIB

Options :

1. % 1

2. % 2

3. % 3

4.
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Problem Solving
QoD FEN-P
(a) Series LfﬁE‘@J@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 SGE HO (DO (H IS’ DO Bebe) (98,07
B 08070 DO DOPEO) DTN §06Y. 28 B’
5200 ©F 90 HTE BSST T30 ) S0EN0D. e
OfTd) BT HHA0D FFOOD TS T3S
S Reloin]e]e}

DRIVE : EVIRD :: ROTOR :

(1) ROTOR
(2) ROOTS
(3) STORE
(4) ROAST
Options :
1.91

2. % 2 gcollegeduniaé
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Question Number : 26 Question Id : 7856743355 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD FEN-TF
(a) Series L_%E‘&)@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HB 110 1HF)OS (D3 IS’ DO 250 (95,07
B> @070 DO DOPEO) DTTFEN §00sY). 2.8 BSS’
500N ©F 0 HTE BSS T 30T ) S0EN0D. e
O8T) BT  HHA0D FTOOD NTS  Fe3S
JPB0D0E.

BD3 : FH7 :: LN13 :

(1) PRIS8
() RWVi7
(3) JNI15
(4) PR17
Options:
1. %1
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Question Number : 27 Question Id : 7856743356 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD EEN-TP R
(a) Series L_%E‘&}E’A)

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HBK ) 1H9) 0 (D TS’ DO 2SO (98,070
B ©0E0°0 SHOOH DOPEO) DeTPFEN 5008, 2.8 2eveS’
EAN0DS ©E60 HFE BSST 3070 ) S0EN0D. €
o) ST HHA0D POD TS eSS

JPO0V0G.
§ o X
‘ST S —
(1) 10
2) 8
(3) 11
4 9

Options : gcollegedunias
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4. % 4
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Problem Solving

QoA FEN -

(a) Series L_%E‘;D@i}

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HBK 110 1H910 (S IS’ DO 240 (95,07
S @070 DO DOPEO) DTN 0. 28 BSS’
50NN ©F.60 NFE BSS T are30TrO) ) S0EN0D. €
O8Td) BT HHA0D OO TS T3S
J*B0V0B.

LIST : TVOM :: RAIL :

(1) LNUS
(2) JNUE
(3) JUNS
(4) LUNE

Options : gcollegedunias
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4. % 4
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Problem Solving
QoA FEN -
(a) Series L_%E‘;D@i}

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HBK 110 1H910 (S IS’ DO 240 (95,07
S @070 DO DOPEO) DTN 0. 28 BSS’
50NN ©F.60 NFE BSS T are30TrO) ) S0EN0D. €
O8Td) BT HHA0D OO TS T3S
J*B0V0B.
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Al B2 = D4«

(1)
(2)
3)
(4)

G4
F5
HS
E6

Options :

1. 8 1

Question Number : 30 Question Id : 7856743359 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QDo A FEN -
(a) Series L_%EEDE’_))

In the questions 21-30, each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HB% O (D)0 (HB TS DO 8O (©5T°0
S @070 DO DOPEO) DTN 5. 28 BSS’
EAN0DS OE 0 NFTE BSST re30wrO) ) S0EN0D. €
O§Td) ST HHA0D FTOOD OIS T3S
000G,

10(55):12(78) ::14 (___):16 (136)

(1) 100
(2) 105
(3) 110
@) 115
Options :
1. % 1
2.¥ 2
3.% 3
4, % 4
Sub-Section Number : 3
Sub-Section Id : 785674371
Question Shuffling Allowed : Yes

Is Section Default? : null @collegedunias
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Question Number : 31 Question Id : 7856743360 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving
Qo) §EN -
(a) Series L_% £20CN

Note : In questions numbered 31 to 35 pick the odd thing out
B8 @ 31 HOA 35 3% HO (D) OS HOFOIO
HO00THHW.

BIRDS, COWS. ELEPHANTS, BACTERIA, INSECTS, TREES, REPTILES,
ROCKS

(1) ROCKS
(2) BIRDS
(3) BACTERIA
(4) TREES

Options :
1.9 1
2. % 2

3. 3

4. % 4 5
collegedunia:s



Question Number : 32 Question Id : 7856743361 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

Qo) §EN -

(a) Series L_% £

Note : In questions numbered 31 to 35 pick the odd thing out

B8 @ 31 HOA 35 3% HO (D) OS HOFOIO
HO00THHW.

FROG. SHARK, TORTOISE. CROCODILE, NEWT, HYLA, SALAMANDER

(1) FROG

(2) TORTOISE
(3) CROCODILE
(4) SHARK

Options:

Question Number : 33 Question Id : 7856743362 Question Type : MCQ O gcollegeduniaé



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving
Qo) §EN -
(a) Series L_% AV (S

Note : In questions numbered 31 to 35 pick the odd thing out

B8 @ 31 OB 35 8% Ko (DN OS HOFOIO
H00THAW.

TIGER, LION, CHEETAH. ELEPHANT. DOG. WOLF, HYENA

—
[

TIGER
LION
ELEPHANT
CHEETAH

H ﬁ
L) | -]
il il il il

Options :

Question Number : 34 Question Id : 7856743363 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Problem Solving
QoD EEN-T
(a) Series L_% A (Y

Note : In questions numbered 31 to 35 pick the odd thing out
B8 & 31 OB 35 8% HO (D) 0S HOFOO
HO0THHW.

254, 344, 632, 622, 713, 812, 920

(1) 632
2) 622
3) 812
4) 920

Options :
1. % 1
2.¥2
3. % 3

4. % 4

Question Number : 35 Question Id : 7856743364 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving

QoD EEN-T

(a) Series L_%EE.D("_D

Note : In questions numbered 31 to 35 pick the odd thing out

B8 : 31 OB 35 6% do (HIOS HOFOIO
HO0THHW.

SQUARE, RECTANGLE, TRIANGLE, PARELLELOGRAM, RHOMBUS,
TRAPEZIUM

) SQUARE
(2) RECTANGLE

) TRIANGLE

)  PARELLELOGRAM

Options :
1. % 1

2.8 2
3.3

4. % 4

Sub-Section Number : 4
Sub-Section Id : 785674372
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 36 Question Id : 7856743365 Question Type : MCQ O gcollegedunias



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD §EN -
(a) Series L_% EEN

Note : Each of the questions from 36 to 45 follows a definite pattern.,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOA 45 SO (o (%) 28 PSS
QONATPAY DTN, 8 AOPITFD)  HHA0OD)
DOONH DT OS RO JrO0I0R.

51,52, 48, 46, 45. 40, 42.

2) 38
3) 48

Options :
1. % 1

2. % 2

Question Number : 37 Question Id : 7856743366 Question Type : MCQ Option Shufflina : No
Display Question Number : Yes Is Question Mandatory : No Calculator :
gcollegedunia

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD FEN-2P
(a) Series L_%E‘E.DE’_D

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 ADOA 45 SO (1O (%) 28 P IS
DOHITY  TEOTION. & DoHIT)  HHod)
HOOHIH DT TTOS PO SrO00B.

256, 235, 169, 100, .225.49. 400, 16
(I) 100
(2) 120
(3) 125
(4) 210
Options :
1.91
2. % 2
3. % 3
4, % 4

Question Number : 38 Question Id : 7856743367 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
DOHIFD)  FEYTIOD. © DOHITFI) K00
HOGHM NATTTOS TPOX J*O0I0A.

4,9, 16,27, 38, , 68, 87
(1) 33
(2) 43
(3) 49
4) ol
Options :
1.91
2. % 2
3.% 3
4. % 4

Question Number : 39 Question Id : 7856743368 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
DOHIFD)  FEYTIOD. © DOHITFI) K00
HOGHM NATTTOS TPOX J*O0I0A.

41 Bl 121 281 412451
23 4 e T8

1
(1) 16—=

Options :
1. % 1

2. % 2
3.9 3

4. % 4

Question Number : 40 Question Id : 7856743369 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0 gcollegedunias



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
DOHIFD)  FEYTIOD. © DOHITFI) K00
HOGHM NATTTOS TPOX J*O0I0A.

3.6, 10,13, 21, 78,

(1) 33
2) 34
(3) 36
4) 35

Options :
1. % 1
2. % 2
3.¥3

4, w4

Question Number : 41 Question Id : 7856743370 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
gcollegedunias



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
DOHIFD)  FEYTIOD. © DOHITFI) K00
HOGHM NATTTOS TPOX J*O0I0A.

0.3.-8. 135, . 35.-48, 63
(1) -30
(2) 30
(3) 24
4) -4
Options :
1. % 1
2. % 2
3. % 3
4. 4

Question Number : 42 Question Id : 7856743371 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
DOHIFD)  FEYTIOD. © DOHITFI) K00
HOGHM NATTTOS TPOX J*O0I0A.

3, 6,16, 57, . 1245, 7506

(1) 244
(2) 264
(3) 324
(4) 465

Options:
1.9 1
2. % 2
3. % 3

4. % 4

Question Number : 43 Question Id : 7856743372 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
DOHIFD)  FEYTIOD. © DOHITFI) K00
HOGHM NATTTOS TPOX J*O0I0A.

4,8,12,7,11,18,9, .22
(1) 11

2) 15

3) 13

@) 7

p—

Options :
1. % 1
2. % 2
3.¥3

4, % 4

Question Number : 44 Question Id : 7856743373 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
DOHIFD)  FEYTIOD. © DOHITFI) K00
HOGHM NATTTOS TPOX J*O0I0A.

6,18,9,27,13.5, 40.5,

(1) 20.125

Options:
1. % 1
2. % 2

3. 3

4.9 4

Question Number : 45 Question Id : 7856743374 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
QONATAY eI, 8 AAPITD)  HH0D)
HOGHM NATTTOS TPOX J*O0I0A.

6, 35, 143, 323, 667, , 1763

(1
2

(3) 1023
(4) 1147

) 789
) 957
)

Options :
1. % 1
2. % 2

3. 3

4. 4

Sub-Section Number : 5
Sub-Section Id : 785674373
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743375 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : Nonl|

None Response Time : N.A Think Time : N.A Minimum Instruction Time collegedunia:s
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Question Numbers : (46 to 48)
Problem Solving

QDoNALEN-T S

(b) Data Analysis
S&0% DINED

The average share prices in a month (in hundreds of rupees) of two companies A and
B in 6 months from September, 2022 to February, 2023 are shown in the graph. Based
on this data answer the questions 46 to 48.

D0 500N A, B © TOTH dien 20 densen (H05e Er.o)
000, 2022 0G0, 2023 SEK Tar VB0 BFHDAI. &
AOB0F0 SO0 46 DOG 48 OK O 104) T DT EFRrEn)].

40
35
30
25
20

15

10

5

mgmn Company A ==fi== Company B

0

September 2022  October 2022  November 2022 December 2022 lanuary2023  February 2023
?an:gouﬁ 2022 @%5235 2022 Aoowb 2022 dhowb 2022 a9502023  Huod 2023

Sub questions

Question Number : 46 Question Id : 7856743376 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving

DD SEN-
(b) Data Analysis
ST 0% BN
The average of share prices of company A during September, 2022 to February, 2023
i

20008 2022 HOA DO 2023 S S0 A TN, DY Hifen

—
[
Srr”
e}
[y |

—

=
-2
o

it
—
-2
[y |
[ B e L = B B e S o N I~ ) (R |

e
R ——
()
[

Options :
1.1
2. % 2

3.# 3

Question Number : 47 Question Id : 7856743377 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving

DD SEN-

(b) Data Analysis

ST 0% BN

The month during which the difference between prices of shares of companies A and
B 15 Rs.1500 15

A OO B 5000 28 Denss® 3o 61500 e@dds To

(1) September 2022 2020, 2022
(2)  November, 2022 e300 2022
(3)  January, 2023 B0 2023
(4)  February 2023 D220 2023

Options :

1. % 1

2.9 2

3.% 3

4, % 4

Question Number : 48 Question Id : 7856743378 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

Do EEN-

(b) Data Analysis

S&0% DINED

L
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The difference (in hundreds of rupees) between average prices of shares values of
companies A and B over the period September, 2022 to February, 2023 1s

025 2022 H0B DDHO 2023 S (10 T :HOS TO F0DAN
A 000 BO 8 dien Dense) G0 (308 &r.oS)

Sub-Section Number : 6
Sub-Section Id : 785674374
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743379 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (49 to 51)
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Problem Solving

QoD EEN-T

(b) Data Analysis
ST 0% BN

The Pie-chart depicts the data pertaining to the percentage of earnings from exports to
six countries A, B.C. D, E and F in a year. Based on the data answer the questions 49
to 51.

A, BC. D, E HOGN F @3 DF0%H DD o 53) &0
(D0TER) TEOD & (800 @ VB0 BER)A0D.
& (5050 SO0 49 OB 51 HBH HO 19908 eIrTRr O]

A 3% =B 15% =C 12% =D 18% = 16% «F 4%

Sub questions

Question Number : 49 Question Id : 7856743380 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving

DD SEN-

(b) Data Analysis
ST 0% BN

If the earnings from exports to A 15 Rs.17500 crores, then the earnings to F ,in crores
of rupees. 15

DDA T 0% A §) 30N 8 (N0FSS) Gr.17500 §EV. NS, F
8) 890 )% 838 (Gr S

(1) 1500
(2) 2000
(3) 2400
4) 3250

Options:

1. % 1

2.9¥2

3. % 3

4. % 4

Question Number : 50 Question Id : 7856743381 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving

DD SEN-

(b) Data Analysis
ST 0% BN

What 1s the sectorial angle that represents the exports of B (in degrees)?

B 50 020000 DO Do VT 5§80 0ed (& hwes’)

(1) 36°
(2) 48°
(3) 54
(4)  60°

Options :
1. % 1

2. % 2

3.3

4. % 4

Question Number : 51 Question Id : 7856743382 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD EEN-T D

(b) Data Analysis
S&0% DINED

L
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What 15 the ratio of the export earnings for the countries B. C and D put together to
those for E and F together?

B.CD DO H020H0DD DO e3¢ & HON E. F BTOR
H0OO0DS &GS 8 o) A1) dae3?

4. ¥ 4

Sub-Section Number : 7
Sub-Section Id : 785674375
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743383 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (52 to 55)

L
@collegedunlas
India’s largest Student Review Platform



Problem Solving

DD SEN-

(b) Data Analysis
ST 0% BN

In a degree college 800 students enrolled to play either Badminton or Cricket or both.
The ratio of the boys and girls in the college is as 5 : 3. The number of boys and the
number of girls who play only Badminton is equal and equal to 40% of the boys.
moreover 10 % of the girls play only Badminton and 50% of the boys play only
Cricket.

Based on this data answer the questions 52 to 55

28 & dvrreds’ do 800 H0d 3):?%)9.:0 wd&oésml ). Gor 436 & ). G
Gocoh) BEErdS D00 AP BLT\ 6. @ LrTus'd rend Bk
erd80 Adyd 5 : 3. Bdwo erdyobd & i ereod Mook erdsy vogy ©
R0 08080 & Hogdy wdo erend K:.oaa'gt‘i" 407 & dardo. wodses, erdied’
10% 08 ercotdd & ArIH BT, Berf erudd ¢ 50% A0d 4385 &
A0rd) escoard.

88 QTG0 SO 52 H0G 55 050 He) (9) 50 MaIPETRre)sn].

Sub questions

Question Number : 52 Question Id : 7856743384 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving

DD SEN-

(b) Data Analysis
ST 0% BN

How many girls play only cricket?
20eb NG 2rOEeN 838 eschzty?
() 70
2) 75
(3) 80
(4) 90

Options :
1.9 1
2. % 2
3. % 3

4. % 4

Question Number : 53 Question Id : 7856743385 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD EEN-T D

(b) Data Analysis
S&0% DINED
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How many boys play both Badminton and Cricket ?
D06 NOE 2eND) PG 08 HOON (§3E) DOKF sc&?

(1) 60
2) 50
(3) 45
(4) 40

Options :
1. % 1
2.9 2
3. % 3

4, w4

Question Number : 54 Question Id : 7856743386 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

QDN AEEN- T

(b) Data Analysis
ST 0F BN
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What percentage of both Boys and Girls play only Cricket?

3500 (836 I @B 2rendd sHO0KN 2rOEe) T 0éb 2

(1) 49
(2) 30
(3) 40
4) 33

Options:

1. % 1

2. % 2

3.3

4, % 4

Question Number : 55 Question Id : 7856743387 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QDN EEN-T D

(b) Data Analysis
S0 BN

L
gcollegedunlas
India’s largest Student Review Platform



How many boys and girls in total play both Badminton and Cricket ?

00 ATIDHOS N0t HOA 2rend) OO rOfen 2rBIOHN
SO0 (836 DOGr sshsty?

(1) 120

(3) 90
(4) 80

Options :

4. ¥ 4

Sub-Section Number : 8
Sub-Section Id : 785674376
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743388 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (56 to 60)

Problem Solving
QDo §EN-T

(¢) Coding and Decoding Problems

§A0R, AEA0R HsND5eN

L
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English alphabets A. B. C...X. Y, Z are numbered as 1, 2. 3. ..., 24. 25. 26. Ina certain
code. nth letter is coded as (n +9)™ letter if 1 <n < 17 and (n — 17)™ letter if
18 <n < 26.

Based on this data answer the questions 56 to 60,

0 HYSPOSD STV A B, C.. XY, Z O 1,23, ... 24,25, 26 T
9030330 BONIO. 25STEEH A S 1< n < 17 9O, 1
8 TR) (n+9) o ©SIOMSF, 18 < n < 26 ONIYWD, n & @ETV)
(-17) & @850 My §6 Dard.

& DTG0 STEOMT 56 0B 60 2GR (10 (233) OF) AFETRON).

Sub questions

Question Number : 56 Question Id : 7856743389 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QDN FEN-TS

(¢) Coding and Decoding Problems

50N, AFAOR DaNOLEN
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SUBHASH i1s coded as

SUBHASH < (808 J0T §& Dard.

(1)
(2)
(3)
(4)

BDKJQBJ
BDKJIBJ

BDKQIBQ
BKDQIBQ

Options :

1. 8 1

2. % 2

3.3

4. % 4

Question Number : 57 Question Id : 7856743390 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving

QDN LEN-TP D

(¢) Coding and Decoding Problems

5300, AR HsND5EN
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The word LINEAR 1s coded as

LINEAR &0 &3 180OJG0MT 56 Dard.

(1)
(2)
(3)
(4)

Options :

1.8 1

URNJWA
URJINWA
URNWIJA
URWNIJA

Question Number : 58 Question Id : 7856743391 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QDo §EN-T D

(¢) Coding and Decoding Problems

500, AR HsND5eN

L
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The word UNIVERSITY is coded as

UNIVERSITY & &8 (§0QJG0M §& Dardd

(1)

Options:

1.1

2. % 2

3. % 3

4, % 4

DWRENABRCH
DWRNEABRCH
DWNREARBHC
DWNARECHRB

Question Number : 59 Question Id : 7856743392 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving

QDo §EN-T

(¢) Coding and Decoding Problems

500, AR JsNOseN

L
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The word which 1s coded as WIPYDA is
WIPYDA T §6 D0H23S H0.

(1) SRIPUR

(2) KANPUR
(3) NAGPUR
(4) RAMPUR

Options :

1. %1

Question Number : 60 Question Id : 7856743393 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

QDN FEN-TES

(¢) Coding and Decoding Problems

300, AFA0N Hs0D5eD

L
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The word MALGUDI is coded as
MALGUDI 3 Ot & (800 JO0 §& Dardd

(1) VJUPRMD
(2) VIUPDMR
(3) VIVPDMR
(4) VIJUPMRD

Options :

Sub-Section Number : 9
Sub-Section Id : 785674377
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 61 Question Id : 7856743394 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QDN FEN-TES

(¢) Coding and Decoding Problems

§°Q00, A0 HsNHeN

L
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Using the coding and decoding process answer the questions from 61 to 65.

QDAY PG00 SO0 61 HOG 65 SO0 e (F)ON
NNV ARNINW

br>

If PARTNER is coded as OZQSMDAQ. then in the same code language SEGMENT 1s
coded as

PARTNER &) 0ZQSMDQ T §G T, &7 56 2P SEGMENT 3308) 56

(1) TFHNFOU
(2) RDFLDMS
(3) RDELDMS
(4) RDFEDNS

Options :
1. % 1
2.9¥ 2
3.% 3

4. % 4

Question Number : 62 Question Id : 7856743395 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving

QDN FEN-TS

(¢) Coding and Decoding Problems
50N, AFAOR DaNOLEN

Using the coding and decoding process answer the questions from 61 to 65.

QAR AP I0 SFEOmr 61 NHOGB 65 HOR O (HFOR
NNARNINW

br>
If DIAGRAM 1s coded as QVNTENZ, then CAUTION is coded as

DIAGRAM &0 QVNTENZ 1 §& T, CAUTION % §& H¢30

(1) RNGHVBD
2) PNHGVBA
3) QMGHUCB
4) OMHGUCA

Options :
1. % 1
2.¥ 2
3.% 3

4. % 4

Question Number : 63 Question Id : 7856743396 Question Type : MCQ O @collegeduniag

~



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QDo §EN-T D

(¢) Coding and Decoding Problems

500, AR HsND5eN

Using the coding and decoding process answer the questions from 61 to 65.

Q9B AP0 srdor 61 HOG 65 SR e (HFO%
N ARNINW

br>

In a certain code, if the word PRIME is coded as VNRIK and the word TIMES 1s
coded as HVNRG. then in the same code the word LUCKY 1s coded as

2,558 &5 ¢ PRIME o VNRIK 1P 0050 TIMES o HVNRG P &6
DN LUCKY Gig) 56 9050

1) FOXBP
2) BPXFO
3) FONBP
4) BPXEN

(
(
(
(
Options :
1. % 1

2.¥ 2

3.% 3
gcollegeduniaa



4. % 4

Question Number : 64 Question Id : 7856743397 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QDN FEN-TS

(¢) Coding and Decoding Problems

50N, AFAOR DaNOLEN

Using the coding and decoding process answer the questions from 61 to 65.

QISABN  NIFFE0 IO 61 HOG 65 HOH e () O%
NNARNINW

br>

If REVENUE i1s coded as UHYHQXH then the code for PROFIT is
REVENUE & UHYHQXH 1 §6 T, PROFIT % §6

(1) SVNIMV

(2) TUNICS

(3) SUMMER

(4) SURILW

Options:

1.8 1

2. % 2 gcollegedunias



4.¥ 4

Question Number : 65 Question Id : 7856743398 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QDo §EN-T

(¢) Coding and Decoding Problems

500, AR JsNOseN

Using the coding and decoding process answer the questions from 61 to 65.

QILABN VPG srdom 61 HOG 65 SO e (%)%
NSVIARNINW

br>

If the word PLAYER 1is coded as AELPRY.. then the word TOPPER 1s coded as

PLAYER @3 Q) AELPRY 1T §6 D). TOPPER 0ing) 56

(1) POETPR
(2) PEOTPR
(3) PEOTRP
(4) PEOPIR
Options :

1. % 1 gcollegedunias



3.3

4. % 4

Sub-Section Number : 10
Sub-Section Id : 785674378
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 66 Question Id : 7856743399 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.AThink Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

Qo) §EN -G

(d) Date. Time and Arrangement Problems
B0, NN, eD0E DN

Which day falls on 31% December. 20237
318 3020, 2023 &) 52 €959e006)?

(1) Monday NP Nele

(2)  Sunday e300

(3)  Saturday F G0

(4)  Friday DB G0
Options :

1. % 1 .
gcollegedunlas



2.¥ 2

3. 3

4. % 4

Question Number : 67 Question Id : 7856743400 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

Qo) SEN -

(d) Date, Time and Arrangement Problems

B0, DDONO, @NOEE DLW

What 15 the angle between the hour hand and the minute hand on the wall clock. if the
time shown 1s 12 hours and 20 minutes?

2,8 7¢8 HBOIrE0S H:00H0 12 06 20 AaVFEN 90w, 106
S0 sHOOH AP SNV DES 50

1 75
(2) 94.75¢
(3) 110
4 130.5°

Options :

1. % 1

2. % 2

3.3

L
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4. % 4

Question Number : 68 Question Id : 7856743401 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

Qe SEN-aT° O

(d) Date. Time and Arrangement Problems

B0, DNANO, @NOE HNOSEN

A clock loses 16 minutes in every 24 hours. If the clock is set at right time on Monday

at 5.00 am and if the clock shows the time as 10.00 pm on Thursday, what 1s the correct
time?

2,8 BAOTG0 (96 24 HOLOF 16 AWTO D) FSHH06. e
AT, DTG0 &0H0 5.00 K0T 6 TFE. e (Roirdo
S HDITE0 T 10 500 0NN, T 0HO D06 ?

(1) o 1L12pm

(2) ©.11.07pm

(3)  0°11.05 pm

(4) 0~ 11.00 pm

Options :
1. % 1
2. % 2

3.# 3

s M collegedunia



Question Number : 69 Question Id : 7856743402 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
Qo) §EN -t CI

(d) Date. Time and Arrangement Problems

B0, DNANO, @sNOE HaNOEN

Ravi, introducing a lady in a party, said she 1s the wife of the grandson of my mother.

How 1s Ravi related to the lady?

2,8 DO, 52 28 (R  STFONP Feren) . ‘@, 7 SO T,

DB 2PE5 . DY GDE e (S D BN OB L) 56
GOLT(R?

(1) Father 0|
(2)  Father-in-law o)
(3)  Husband A0
(4)  Grand Father @reh

Options :
1. % 1
2.¥ 2

3.# 3

L
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Question Number : 70 Question Id : 7856743403 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving

QDo SEN-T

(d) Date. Time and Arrangement Problems

B0, NN, eD0E DN

For every 55 minutes, a bus leaves from Hyderabad to Warangal. An announcer at
Hyderabad bus complex said ‘A bus to Warangal left 22 minutes ago and the next
bus to Warangal will leave Hyderabad at 11.10 am’. Then the time of the
announcement is

STOTE OB G010 F (D 55 AWTOR 2.8 W) Focd.
SO0 20) FORH) S 28 (HEOS & DGOT N0, 2
AP 1850 28 D) HG0HO 0Hen DOOO HOAN &.11.10
0808 TPET2P 0A HEOHO K hthares 28D ADHED BN,
€95)(2) (95103 IDBA) DeDONO

1) &.1042am

(1)

(2) ¢.10.37am
(3) %.10.25am
(4)

4) &.10.15am

Options :
1. % 1
2.9¥ 2

3.# 3

4. % 4 :
collegedunia:s



Question Number : 71 Question Id : 7856743404 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving

QDN FEN-T

(d) Date. Time and Arrangement Problems

SO, HIDODNO, @HOLE HNDLEN

There are 20 employees in an office working in three shifts:

(1) Samto2pm (i) I0amto4pmand  (u1) 12 noon to 6 pm

The employees are divided into 3 groups of 5. 10 and 5 to work in the three shifts
respectively. During what time all the 20 employees are working together in the

office?

LTS DOV 2000 &EHON 3 AP OF HA TRTYD.

(1) €.810.0 DOA DL 027500 HBR (i) &OANO. 10 (0. HOG
. 4 (10.0) SO80 (i) DGFETY0 12 §0.0 NOG . 6 10.0 HEH e
&OIHON 35, 10 00N 5 GOT P DTN BR0DAEA, €3
S DY O’ DA TRTY . & H0HS 20500 &BHHOOSEP OV

N DO AHOHO

(1)  10amto 11 am &.10 (0.0 H0G &.11 110.0 HB%

(2) 11 amto 12 noon &.1110.© H0G 0.12 110.0 HER

(3) 12 noon to 2 pm . 12110.© 0B 0.2 0. © SO

4)  1pmto3pm . 1700. Do 0.3 0. © IG5
Options:

1.

#® 1
gcollegedunlas
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3.3

4. % 4

Question Number : 72 Question Id : 7856743405 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
Qo) §EN -t

(d) Date, Time and Arrangement Problems

B0, DDONO, @NOEE DLW

Five persons P, Q. R. S and T sit around a table. P sits two seats to the left of R and

Q sits two seats to the right of R. IfS sits m between Q and R, who sits to immediate
right of P ?

MG 5NENP, Q. R, S, T 0 2,8 HOEA 2 TEY Srd a8, R
AEIFI™ OB TS50 P EPG YT, R 55 HAFYN 008 06 Q

SRR, Q OO R © sE35 S 10D, P IT00m 06
D820 110 2358 daI)?

O v

L
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Options :

Question Number : 73 Question Id : 7856743406 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
Qo) §EN -

(d) Date. Time and Arrangement Problems
B0, DNAN0, @NOE HDNDEN

L
@collegedunlas
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For any two real numbers x, y : define x + y = x + y + 2xy.

3 (x + (—2)) =5thenx =

DR DO TR DOPIEN X,y : x*y =X+ + 22y, EN TGN,

3 (x(~2)) =5 ©00S, x =

—8
iy
16
o
—-16
G Sp
8
@ 9
Options :
1. % 1
2. % 2
3.3
4. % 4

Question Number : 74 Question Id : 7856743407 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L
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Problem Solving
QoD §EN - )

(d) Date. Time and Arrangement Problems
B0, DNANO, @NOE HNOSEN

2

e
Ifx*xy= ;+‘:2. x,y ER then, 2% (3+1)=
xz_yz o
xry=77 7YV ER 0N, 2x(3x1)=
(1) 83
116
@ 19
29
(3) 20
29
@ 21
29
Options :
1.8 1
2. % 2
3. % 3
4. ¥ 4

Question Number : 75 Question Id : 7856743408 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

L
gcollegedunlas
India’s largest Student Review Platform

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

QDo FEN-T

(d) Date. Time and Arrangement Problems

SO, HIDODNO. HOEE HSVDLEN

If x*=3x—05, then (E:H:)E =

x* = 3x — 5 @0D), (Etz:y —

3 -2

(1)
(2)

(3)

= L = | o | e

4)

Options :
1. % 1
2. % 2

3. 3

4.¥ 4

Mathematical Ability

Section Id : 78567450 g collegedunia:



Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

2

Online
Mandatory
75

75

75

Yes

0

1
785674379
Yes

null

Question Number : 76 Question Id : 7856743409 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded fraQ sed

[
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=
5

(25><32)% . (5x3*%)s _ (E)K g
3 5

27\3
(125><3 5)

(1)

(2)

(3)

(4)

Ul = U] W U] = —

Options :

Question Number : 77 Question Id : 7856743410 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
29 08eded PO ged

L
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27{:3}F:6—Z:>1+1+1:
X y z

(1) 3
2 1
(3) 0
# 4

Options :

Question Number : 78 Question Id : 7856743411 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded fraQ sed

L
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HA:B=2:3B:C=4:5mdC:D=3:7 thenA:B:L:D =

A:B=2:3:B:C=4:50000C:D=3:7 @ONB.A:B:C:D=
(1) 8:9:12:17

(3) 18:24:42:98
4) 8:12:15:35

Options :

Question Number : 79 Question Id : 7856743412 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded fraQ sed

L
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A bag contains rupee coins of denomination 1, 2. 5 and 10 respectively in ratio
of 1:3:5:7. If the total amount in the bag is Rs.2040, then the total number

of five rupee coms 15

28 H0OS 1, 2, 5 HOAM 10 Erarahe) densd EONS e
SEOM™1:3:5:7d0)8S ST)00. 6 J0DS I0eo 5r.2040
&00)0) ), 5 GFraroDO TETO) DO

(1) 100
(2) 60
(3) 140
4) 20

Options :

1.41

2. % 2

3.% 3

4. % 4

Question Number : 80 Question Id : 7856743413 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
908He3 0 céb

L
gcollegedunlas
India’s largest Student Review Platform



E_
~n TR
(1) 324
2y 322
(3) 318
4) 315

Options :

1. % 1

2.9 2

3. % 3

4. % 4

Question Number : 81 Question Id : 7856743414 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded mraQ sed

2 1 1
= _I_ =
Jio+2v21 V12-2V35 8- 2V15

(1) 3
2) 2
(3) 1

4 0 :
collegedunia:s



Options :

1.8 1

Question Number : 82 Question Id : 7856743415 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08eded s ged

What are the least values of a and b if the number 7a342b in the decimal

system 1s to be divisible by 88 ?

ET0F TS0 PR HOPS 7a342b DA 88 T 27NN DTEVT
a, b §d Jendien

(1) a=4b=4
) a=5;b=5
(3) a=5b=4
4 a=4b=5

Options:

1.1

2. % 2

. M collegedunia



4. % 4

Question Number : 83 Question Id : 7856743416 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded mranQged

Sum of the positive divisors of 288 is
288 QINE) Q) RO IO

(1) 219
(2) 419
(3) 629
4) 819

Options:

4.9 4

Question Number : 84 Question Id : 7856743417 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator :

: N.A Think Time : N.A Minimum Instruction Time : 0 @C_‘?”egedumaé



Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08 eded fraQ ged

The GCD of two numbers 1s 23 and their sum 1s 184. The numbers are

B0 Q0P (1.2, 23 SO0 a3 INB0 184. @) &
QOPEN

(1) 60.124

) 65.119
3) 69,115
) 70,114

Options :

1.8 1

Question Number : 85 Question Id : 7856743418 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
29 08eded PO ged

L
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The HCF and LCM of two numbers are 21, 4641 respectively. If one of the

numbers lies between 250 and 300. then the difference between those two
numbers. 18

DO HOPIO H.77.27. sDO0H AT 00 ST 21, 4641, ¢3S
2,8 0D 250 DO 300 © NES SO, & DO DOPLE 2360

1 72
@ 78
3) 8l
) 84

Options :
1. % 1
2. % 2

3.# 3

4.¥ 4

Question Number : 86 Question Id : 7856743419 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded s ged

L
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: S 4 m -
If m, n are relatively positive integer such that — = 5.27, thenm —3n =
n

% = 5.27 @0DSAED, m, n O W, DD Q0PN ©9ONS,m —3n =
(1) 21
2) 31
(3) 41
(4) 51
Options :
1. % 1
2. % 2
3.v3
4. % 4

Question Number : 87 Question Id : 7856743420 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded fraQ sed

L
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If x and y are rational numbers such that x < —1 and y > 1, then which one
of the following 1s true ?

X,y 00 x < —1 0000 y > 1 @@l 5N ) e0dSesaD Howsen.
908 &2 (500 7SS O 02

D x>y
@ gextal
6) xi*’yi
4 x*+y>1
Options:
1. % 1
2. % 2
3.% 3
4.4 4

Question Number : 88 Question Id : 7856743421 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08 eded fraQ ged
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The largest among V7 — v5.V11 —v9,V5 — v/3,V4 — /3 is
V7 = V5. V11 = y9,V5 — V3,4 -3 ©F 200

) V7-+3
) VI1-v9
6) Vi-3
4 V5-v3
Options :
1. % 1
2. % 2
3. % 3
4. 4

Question Number : 89 Question Id : 7856743422 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded mraQ sed

L
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i 1 1 1
The smallest among 62, 83, 10+, 126 13

1 1 1 1 . -
62, 8, 103, 125 O 58 0P

1
0 &
9 1
G g
. 1
@ 1

Options :

1. % 1

2.9 2

3. % 3

4, % 4
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The ratio of Praveen’s mcome m 2019 and 2020 1s 5 : 7. In 2019, he spends
45% of his income and saves Rs.4510. If he spends 70% of his income in 2020,
then his savings (in rupees) m 2020 1s

2019 SO0 2020 O (DDET TINE) STONSNS )& 527, 2019
S ) TN 45% D) TODIT B, 4510 O ST DA.
202065 ¢ STONOS 0% PK) TR, @) Py (B.0)

PARAVA
(1) 3444
(2) 3264
(3) 3184
4) 3128

Options:

1.1

2. % 2

3. % 3

4. % 4
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In a competitive examination, the cut off mark for qualifying 1s 40%. A
candidate got 60 marks and did not qualify by 20 marks. What are the
maximum marks of the examination?

255 S HOES s TSNS 40% ™ AFONOTE. 2.5
@08 60 SN SDINN)ESE,  205Tpen 80y

TIG0SERND TTEFOTD. & HOED ) SFHON

QG L0 )?
(1) 150
(2) 180
(3) 200
4) 250
Options :
1. % 1
2. % 2
3.3
4, % 4
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An article 1s marked at a price of Rs.480 more than its cost price and on being
sold at 20% discount. a profit of Rs.124 1s made. The marked price of that
article (in rupees) is

28 He) OINE) TR0 ) Gr480 QR 108E3e I
QQON0W TR 20% SN0 )T S )0 erg0 Gr.124
©9ONB, & 505) T0E), (D83 T (Br.o)

(1) 1740
) 1780
(3) 1820
(4) 1860

Options :
1. %1
2.9 2
3. % 3

4. % 4
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Ravi sells a chair at a loss of 15%. Had he sold it for Rs.70 more. he would
have made a profit of 5%. What 1s the cost price of the chair (in rupees)?

52 28 590)Q 15% SR058) @), @b e $003) Gr.7000
@90 S 900N B 98 5% 7250 1)) GOBA. ). &
503 5%) 30 (6r.o8)

(1)
2)
(3)
)

330
350

100
500

Options :

1.8 1

2.9¥2

3.# 3

4. % 4
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Two persons A and B started a business with capital Rs.50000 and Rs.70000
respectively. After 8 months B withdraws an amount of Rs.20000 from the
business and at the same tume A puts another Rs.20000 mto business. At the
end of the year, the share of A in the total profit of Rs.27000 in rupees 1s

QOB H5EN A, B & ST GF. 50000 005 S, 70000 © &
S0 G, DEVDAT 8 2.8 o) (FG0H0N0. 8 OO
S5 B 65 DEPDA S GF. 20000 IHEH SVEHT, &F
HNOHOS A @BS0mT DG BT 20000 DEVAAY E6.
290696 YT0BS ST ) €230 GF. 27000 6 A ThE), FEr

(I) 12250
(2) 12500
(3) 12750
(4) 13000

Options :
1. % 1

2.8 2

3.3

4. % 4
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Two persons P and Q started a business with capitals of Rs.80000 and
Rs.120000 respectively. After 4 months R joins the business with a capital of
Rs.160000. At the end of the year if there 1s a profit of Rs.82800, then the
difference between the shares of P and R in the profit, in rupees. s

[ 950N P, Q &0 ST EF. 80000 HOO EF.120000 ©D)
VEVAAT E 2.8 arroeR) @rE00N0. 4 FOO Bl G,
160000 O DEVAAT DRSEF R ErdolS Do,
0 YT 3018 7250 G 82800 & P £HOCH) R © 5T Er®

08 B30 (Br.0)
(1) 7200
(2) 14400
(3) 21600
(4) 28800
Options :
1.9 1
2. % 2
3. % 3
4. % 4
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Tap A can fill a tank 1n 12 minutes and tap B can empty it in 8 minutes. If the

tank 15 half full and both the taps are opened simultaneously, then the tank will
be

28 S T A 12 ANTOS 0O OO ST B A
8 AVTOE §rY TONAOD. SE3 ¢ DO K0 5% Doy
&30 )08 88 DO ST 2,370 BODINCH), &8 SE

(1) Filled in 12 min. 12 .06 O,
(2)  Emptied in 12 min. 12 .08 g9 S
(3)  Filled in 8 min. 8 2. O O
(4)  Emptied in 8 min. 8 .06 g7 i,
Options :
1.8 1
2.92
3.% 3
4, % 4
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Two pipes can fill a tank m 20 and 24 minutes respectively and a drain pipe can
empty 3 litre per minute. All the three pipes working together can fill the tank
in 15 minutes. The capacity of the tank. in litres. 1s

DO D0 2.8 S8 Q) SENT 20 . 0, 24 . O’ A0 ()Y,
D00 rE H05Y 8 S H0B 2.8 AMTIE 3 OO TS
79 TAMR. & P HOYOD 23 70 BODIHD, &8 &8 15
. O 50 T J0BILWNS, & A3 & J70 S HOSTEO
O

(1) 180

@) 120
3) 100
4) 60

Options :
1. % 1
2.¥ 2
3. % 3

4. % 4
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Two trains A and B are travelling at uniform speeds of 60 kmph and 70 kmph
respectively between two stations. If A takes 3 hours more than B to complete
the journey, then the distance between the stations (in km) is

D0CH THY A, BE SHOT (0350 60 §.20. SHOCH 70 8.2, 5O
SH0S DO VAN DS (HAPEFVTY 00, & (HOTERD) a0
FoMOK BET) A 310800 8 NN BB LONS,

A D5 Ardo G.a.o8)

(1) 1250

)
Fa

o~

3
4

——

)
y 1275
)

Options :
1. % 1
2.¥ 2
3.% 3

4. % 4
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A person covers 30 km by bus m 40 minutes. After deboarding the bus. he took
rest for 10 mmutes and covers another 20 km by a car in 30 minutes. The
average speed for the whole journey. in kmph. 1s

2.8 5:8 40 J. O 30 8. TR AR (HOTPEROT. 20
AR BT 10 Q. 00 AT0S SNE 30 DO 8 P 20 8.
APGo (DOPB0TRD. & IS0 (NOTE0S e D
360.(0./8.0.0¢)

1) 35
2) 375
3) 425
) 40

Options :
1. % 1
2.9¥ 2
3.% 3

4, % 4
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Three workers A. B and C working independently can complete a piece of work
in 36, 54 and 72 days respectively. All three start the work together but A leaves
after 8 days and B leaves after 12 days. In how many days will C complete the
remaining work?

A. B, C @R S0 502500 28 DA BB SR 36, 54
HOON 72 Farod JOTabiod. & MG O e

60200 8 G208 A, 12 5220 8 B SOOTN0. s H
C 25,3 J) 820 550 Trdh?

1) 36
) 3
3) 24
4) 28

Options :
1. % 1

2. % 2

3.3
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Two persons A and B can complete a work in 12 days while B and another
person C 1n 15 days. If A works twice as fast as C. then m how many days B
alone can complete the work ?

208 $:8060 A SHO0H BED 2,8 DA 1282306 230 Tohiied.
S B 000 8955 ¢ 3O 15608 30 Tanke®m. ¢
£:5)00¢H DY SHOT A HQ DR, ) 820 B 2.8,3 € HA
ESAWTeVY,

(1)
(2)
(3)

(4)

16
18

Options :

1. %1

2. % 2

3.# 3

4.4 4
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The area of a thombus is 720 sq. cm. and one of 1ts diagonals 1s 18 cm. What
15 the length in cm the other diagonal?

2.5 96 DERNEIZ FFO50 720 5. V0.0, DO TR ETOS’
2,563 18 0.20. 08 DEY0 Fehs) D0 (R0.80. OS)?

(1) o4
(2) 80
(3) §5
4) 120

Options :

1. % 1

2.¥ 2

3. % 3

4, % 4
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The length and the breadth of a rectangular field are in the ratio of 7: 5. If
length 15 reduced by 5 meters and the breadth is increased by 2 meters the area
is reduced by 65 sq. m. What was the area of the original field i sq.m.?

2.8 BF SRERPTES SO HOTD BEENIEN 71 5 AN )SES
SO0, PN 5 Q. 0D F¢HeN) 2 2. DOVB TR TS0
65 5. a. & S10A. FIE) FH0 TBE) FFOZ0 0 GOTD.

. . o)
(1) 765
(2) 825
(3) 875
(4) 1000

Options :

1. % 1

2. % 2

3.¥3

4. % 4
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From a metallic solid cube of side 44 cm. small spherical solid balls each of
4 cm diameter are made. Then the number of these made out of the cube 15

(takem = ?)

44 080, B0 §0 DRy SaT0 DO 4 V0., FLN0 HO
D BD D FFE 20O SOSPe BT, & D0 OB
Do (1% 2060 HoP3

(=2 P S0S5)

) 3641
) 3241
3) 2841
) 2541

Options :
1. % 1
2. % 2

3.# 3

4.¥ 4
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If the area of the base of a circular cone 1s 51. sq.m. and its volume 1s 68 cu.m.
Then the height of the cone (in meters) is

28 SIS $0506) Th0E), 257 FFO0 51 13.00. SHOAN TR 506
HOSTEI0 68 50.20. NS, TR ) (2. OF)

Options :
1. % 1

2. % 2
3.3

4. % 4
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The dimensions of the floor of a hall 15 20m x 20m. If the sum of the areas of
the floor and the roof 1s equal to the sum of the areas of the four walls, then the
height of the wall in meters 1

28 (16 T08) T 2020, x 2000, FOSOS €00, & (O F© HOH
L0 ITErEO Jdo, e (O et Ade Tend Ao
TR0 FNBSNHZ VLTINS, & {8 e (0. )

—

1) 8
(2) 10
(3)
4) 16
Options :
1. % 1

2.9¥2

3.# 3
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The area of the base of a conical tent 1s 154 sq.m. If slant height of the tent 1s
15m. then the cost of the canvas at the rate of Rs.1500per sq.m. erect the tent

(in rupees) 15 (take m= ?)

28 $03) e5°05) HETB0 BE), 25 FT30 154 .00, & HEV0
TEN ) 15 a0, 28 a0, MEAF Gr.1500 T8I0 GG FONS

HES HEPoR) SAHFIE eth; H) O o) @=2 ™
SOTDHD)

(1) 595000
(2) 525000
(3) 495000
(4) 425000

Options :
1. %1

2. % 2
3.4 3

4. % 4
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In one corner of a rectangular field of dimensions 15m x 12m. a swimming pool
of area 8m x 2.5m and a depth of 2m 1s dug and the earth 1s evenly spread over
the remaining area of the field. By how many centimetres the level of the field
raised?

1500. x 1260, OB O 2,8 AY SAGRPS S §lebo Ty 2.8
Sroey 83D, x2.520. TOeben (o) 2,8 &ied T 200, ©
SE5E) ) R HE MWAT (P00 & HSFIOM B DD
DI, € 0 TE) D 0 DA

(R0.D.OS)?
(1) 15
(2 175
(3) 223
4) 25
Options :
1. % 1
2. % 2
3.% 3
4.4 4

Question Number : 109 Question Id : 7856743442 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded mraQ sed

L
gcollegedunlas
India’s largest Student Review Platform



If A=10011011, and B = 11011,, then A—-B =

A =10011011, OO B =11011,, 00, A—B =

1) 128
2) 126
3) 125
4 124

Options :
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The remainder when 58 is divided by 7 is

5885 ) 7 2PNOTIT &3, 300

—~—
2
[ ]
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If A={3n|n€Z}andB ={4n|n€ Z}, then ANB =

A={3n|n€Z}NO0N B ={4n|n € Z} ©0N)D,ANB =

(1) {3n/neZ}
2) {4n /n€eZ}
(3) {12n /ne€Z}
4) {n/neZ}
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For three non empty sets A, Band C, AU (Bn () =

A. B, C ) S0 4PR 50 Aaneen o), AU (BN ) =

() AuBUC
2) (AuB)n(Au()
(3) (AnB)U(AnC)
4 AnBnNC

Options:
1. % 1
2.¥2
3. % 3

4, % 4
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If o and B are the zeros of the quadratic polynomial 2x2 + 3x + 1, then
H3£3 ‘|‘f1'332 i a2ﬁ3 i

262 + 31 + 193 58 DTV TNE). TN a, B ) SOV,
{T3ﬁ3 ‘|'{1332 ¥ a2ﬁ3 A

=

1 -
2)

&)

= e W

=y

(4)

o

Options :

1. % 1
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If @ and f are the roots of the x* — 6x + k = 0. then the value of the k such

that @® + f* = 40 is

a,f O x2 —6x+k=0 DQWE) LPeTeD @OV,
a® +B% = 40 @TDLIGOM k JeNa)

(1) 20

Options :

1. % 1
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If the polynomial x* — 6x% + ax + b is exactly divisible by the polynomial
x% —3x + 2, then (a,b) =

DT0NO *3 — 622 + ax + b & 2% — 3x + 2 JBJNOT 27NN, (a,b) =

1) (11,-6)
B {116
i |
) (11,6)
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1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 116 Question Id : 7856743449 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

II. Algebraic and Geometrical Ability
DB0%, 2PN AN Psed

L
gcollegedunlas
India’s largest Student Review Platform



The value of k so that x* — 4x® 4 5x% 4 6x + k is exactly divisible by
(x—2) is

(x—2) O x*—4x® +5x2 + 6x + k QBN 27N0D DAB. k DEN

1) -16
) 16
3) 15
4) -14

Options :

1.41
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+y  x— ty  x-
if —£—— = 8 and =L+=2 =11, then Xt +y?=
2 3 3 4
oD - g 00 4+ =11 eowd, K +yl=
(1) 360
@) 350
3) 324
4) 325
Options :
1.41
2. % 2
3. % 3
4. % 4
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x+3 x+2

—+—=2 =x=
x—3 x—2
11
(1) —
5
2) E
3) 13
‘ 5
@ 17
5
Options :
1. % 1
2.9 2
3.% 3
4. % 4
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If a+b+c=2andab +bc+ca= -5, thena®+b*+c% =

a+b+c=2000 ab+bc+ca=-5 ©oN®, a2 +bh*+c =
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o : : ’ 3
The 6 and 13™ terms of a geometric progression are respectively 24 and S

The 25 term of that progression is

2,8 16D (3 S0 665 SO0 136 DTN AT 24 HOON i.

&3 130 ' 258 D30
2
(@) 3Ix2
&) 3Ix2"
A 3INEE
Options :
1. % 1
2. % 2
3.+ 3
4. % 4
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The first term and the common difference of an arithmetic progression are 3
and 4 respectively, then the arithmetic mean of first 15 terms of the arithmetic
progression

2.8 @08 [3AS Z0AE3 HAN HO0HY HTOSTEN SEIT 3, 4
€2 @0NAE, & 08 3G’ INEAES 159570 908 G0
(1) 20

2) 34

() 4

4 31

Options:
1. % 1
2. % 2

3. 3

4.4 4
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5= % m radians (where m, n are positive integers and their G.C.D. 1s 1),
then 3m + 4n =

750 = % T OB0DM &0 (286 m,n e O 2JFQ DOPIEN HOOKN
e H.ar.2r.=1). @0NS) ). 3m + 4n =

1) 63
2) 56
3) 126
@ 112

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 123 Question Id : 7856743456 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

II. Algebraic and Geometrical Ability
DB0%, 2PN AN Psed

L
gcollegedunlas
India’s largest Student Review Platform



(sin 15° — cos 159)?

(1)

T S I S

(2)
3) 1
(4)

bo | =

Options :

4. 4
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secld + tanf = m = cosf =

m
|
(1) m2+1
m
(2
m2 —1
2
3) m*+1
m2 —1
@ 2m
m? 4+ 1
Options :
1. % 1
2.8 2
3. 3
4.9 4
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cosx +sinx =+2cosx = cosx — sinx =

(1) V3sinx
2) +2sinx
() Vssinx
4  V6sinx

Options :
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The height of a tower 15 100 m. Observed from two points A and B on the
opposite sides of the tower the angles of elevation of the top of the tower are
60° and 30°. The distance between A and B (in meters) is

28 0020 K 100 0. & D0 TS0 HoB HB0E OIS
BODRET BOD DODHEN A, BO 0B €8 00250 3PT°RE &2 ¢
5 60° HO050 307, @95)¢H, A HOOK BO 51855 ArBo(a. ©F)

(1) 400

2)  400y3
3
3) 500

(4) 500
N

Options :
1. % 1
2.9 2
3.% 3

4, % 4
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In the adjacent figure, what 1s the value of x ?

98] D0, x TBVEY DN DO ?

1) 55
2) 60
3) 65
4) 70

Options :
1. % 1

2. % 2
3.9 3

4. % 4
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In the adjacent figure, ZABC is obtuse. Then AC? =

08), DO, £ABC 2,8 HEH §80, @05y, AC2 =

A

90"

(1) AB?+BC?
(2) AD? 4+ DB?
(3) AD? +DB? + 2AD.DB
(4) AB?+BC? + 2BC.BD

Options :
1. % 1
2. % 2

3.# 3

4.4 4
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ABCD 1s a trapezium with AB and CD as the parallel sides. As shown in the
figure below AC and BD intersect at E.
IfAE=4cmand CE=6cm. thenAB:CD=

AB HO0 €D e ASr0oedd 2haren fi© ABCD Sr0ed
D)0 1800 960 & Brad GO AC HOOH BD ) E &
OB So0ENT") ON.

AE=40.00. OO0 CE =6 0.Q). ©0NS, AB: CD=

S

—
LFE]
"
o SO o O [ & o TR S R S T S T N o

Options :
1.9 1
2. % 2
3. % 3

4. % 4
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In a parallelogram ABCD. AB =14 cm. BC =12 cm and AC =22 cm. Then
the area of ABCD (in sq. cm) 13

2.8 DSPOE Wed )20 ABCD 6 AB=14 R0.00., BC =12 0.,
AC=220.8). @R, ABCD 7050 (19.20.00. O¢)

(1) 32v10
(2)  48y10
3) 64410
4 80v10

Options :

1. % 1

2.9 2

3.% 3

4. % 4
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In the adjacent figure. O 1s the centre of the circle a
and ZPQR + £POR = 120°. Then ZPQR = / ?‘T\

D8N0 598 FoIC0 0 HOAI 2PQR + : | j”‘“‘ .
£POR = 120°, ¥ )/

\H\"‘-\-__
@) (%, ZPQR =
(1) 807
2)  60°
3) 40°
@) 30°
Options :
1. % 1
2. % 2
3.¥3
4. % 4

Question Number : 132 Question Id : 7856743465 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

II. Algebraic and Geometrical Ability
D)8 0%), 235 Ne30H Y seb

L
gcollegedunlas
India’s largest Student Review Platform



In the adjacent figure, O is the centre of the circle and A. B, C are points on the
circumference forming AABC. If ZACO = 20°, then ZAOB =

898065 598 50(30 0, 598 H0O
DoH)EN A, B, CO & BT 4ABC.

/ACO = 20° ©90NS. ZAOB = \ é B

(1) 1200
) 1100
3)  100°
) 80°
Options :

1.8 1
2. % 2

3. 3

4.¥ 4
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The perimeter of the triangle with vertices A(0,0); B(1,0) and €(0,1) (in units)

1S

A(0,0);B(1,0),€(0,1) 3Ten feo) (@2HB0 G0 HEY T

((MQ@@G)
D 1442
2 22
G) 2+V2

@ 2(1+v2)

Options :

1.8 1
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The centroid of the triangle ABC with vertices A(4. 3). B(-6, 2) and C(a. b) 1s
G(3.2). Then(a.b)=

A(4, 3). B(-6. 2), Ca. b) ©cD AT EONS (@20B80 ABC T3
S0|erA0 G(3.2) @O0 (2. b) =

1 (
2 (
3) (L1
@ (

Options :
1. % 1

2. % 2
3.3

4. % 4
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The slope of the line perpendicular to the line passing through points P(1, 3)
and Q (2. 6) 15

P(1, 3) DO Q (2. 6) DOHN® HOT £ TPy 0O &OT
DO% D aren

Options :
1. % 1

2. % 2
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R . . S A Y T
The equation of the line passing through origin and having slop otg 18

S50 D0y HOT SFehr g:i’l) TN EORS OG% BY H¥B0

(1) Bx—4y=0
2) 4x—-5y=0
3) 3x-2y=0
4) 4x-y=0

Options:
1. % 1
2.¥2
3. % 3

4, % 4
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If the lines 5x + 3y + 2 = 0 and 3x — ky + 6 = 0 are perpendicular. then the
equation of the line passing through origin and having slope k s

Sx +3y+2 =000 3x—ky+6=0 3 Q5% DPEN ©0DOMT
&%) 00. DY 070 Do) HOT ey k A aren S &Y

O Ma088ea0
(I) 5y+x=0
(2) y+5x=0
(3) Sy—-x=0
(4) y-5x=0
Options :
1. % 1

2. % 2

3. % 3

4.+ 4
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If a line with slope 5 makes an intercept —4 on X-axis, then the intercept made
by that line on Y-axis is

e 5 i) 28 3% DY X-050 D —4 @06 OO D). & O
Y-850 2 D0 @06 OG0

S

@2) 10
3) 15
@) 20

Options :
1. % 1
2. % 2

3. 3

4.4 4
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If a line y = mx + c passes through the points (7. -5) and (-3. 6).

then 2c +4m =

y=mx+c @3 dSF0D (7.-5) DO (-3, 6) 20cHH® How
S,  2c+4m=

— —
L] ]
e e
fad [ ]

Options :
1.9 1
2. % 2
3.% 3

4. % 4
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The equation of the straight line passing through the points A(1. )
and B(4. 3) 15

A(1,5), B4, 3) D0ocHH® Hom® D S8 T andBe0

1) 2x+3y—-9=0
@) Zx+A17=0
(3) 2x+3y-17=0
4 2x+3y-19=0

Options :

Sub-Section Number : 3
Sub-Section Id : 785674381
Question Shuffling Allowed : Yes

Is Section Default? : null
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The average of five consecutive numbers 1s n. If the next two numbers are also
included, then the average of seven numbers will be

6 S NOPZO AEN 7. €8 Dared DO NOPLON SrE e
GT0TE DO )R, 88 D OO Dife

1) n+2

(

2) n+1
(3) n+3
(

4) n+4

Options:
1. % 1
2.9¥2
3. % 3

4, % 4
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If the mean of the following data is =5 then x =

& (800 (ST 045y ©0BHEIFN0 - @ONSIR, x =

x| 2.9 |T)| 15

20

Eld5|x] 7

9

—_—
[ ]
e [ o

Options :
1. % 1
2.9 2
3.% 3

4. % 4
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If the mean of 10. 15. 20, 25. 28. 30. k. 38 15 26. thenk =

10, 15. 20, 25, 28, 30. k. 38 © sDI5e00 26 900, k TBVE) N6

(1) 42
(2) 40
(3) 43
4) 46

Options :

1.1

2. % 2

3.% 3

4, % 4
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' n X X X X X X .
If the median of POttt where x> 0,1s 12, thenx =

x> 0 90N, f @ D0FOD NS0 12

0NY. X =

(1) 36
2) 60
(3) 48
4 72
Options :
1. % 1
2. % 2
3.3
4. % 4
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If the median of the following set of observations 1s 9, then x =

1806 HBIOSO DA HeB0 9 ONS, x =

16,3,12,6,14.x,2, 8, 18

(ry 9
(2) 11
3) 125
4) 145

Options :

1.1

2. % 2

3. % 3

4, % 4
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If a data contains 15, 25, 29, 17. 12 observations lying in the intervals
0—10,10—20,20 — 30,30 — 40,40 — 50 respectively. then the mode of
this data 1s

28 5040 0 — 10,10 — 20,20 — 30,30 — 40,40 — 50 ©OST'OES
15,25.29, 17, 12 5020000 §6) &5 NS, & T 04

PIVFS0
i 25
(2) 2425
By 215
4) 2825

Options:

1.9 1

2. % 2

3.% 3

4, % 4
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If the mode of the following data 1s > . then x =

& (800 OT045) aRTOFE0 - 9O, x =

Class interval
b 5jed 20-25|25-30 | 30-35 | 35-40 | 40-45
@000
Frequency

200200 O
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If 4 unbiased coins are tossed together. then the probability for getting at least
3 heads 1s

4 D28 T 28 B ArEDD3) (D), $no 3 o5°0) 00 00t I
R}oe,:r'*;ﬁ?sej

alw Rl FIE R

Options :
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Two dice are thrown. The probabulity that the sum of the numbers on their faces
will be 7 1s

BOCH POEOK BOODNRYE aPE3 SNITFO R D) 0RO SN0
7 900§ NOT e

PO = OB O] = o] L

Options :
1. % 1
2.9¥ 2
3. % 3

4. % 4
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The probabulity of getting at least one tail in 4 throws with a com 1s

2.8 TR 4 D DGR D0 2.8 SN ST 0%

0T §ed

15
16

13
16
1
16
1

(4) T

Options :
1.1
2. % 2

3.# 3
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Number of Questions to be attempted :
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Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 785674382
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 151 Question Id : 7856743484 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 1: Meanings (sentences with dashes)

A nustaken belief especially one based on unsound arguments 1s called

(1) deceit.
(2) fallacy.
(3) delusion.
(4) myth.

Options :
1. % 1
2.9¥ 2
3.% 3

4, % 4

Question Number : 152 Question Id : 7856743485 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Resbonse Time
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Correct Marks : 1 Wrong Marks : 0

Part 1: Meanings (sentences with dashes)

After a brief period of peace and contentment, the fanuly to 1ts unhealthy squabbling.

(1) reacted
(2) dwindled
(3) abated
(4)  reverted

Options :

Question Number : 153 Question Id : 7856743486 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 1: Meanings (sentences with dashes)

There has been an orowth m start-ups in the last decade with over 1300 active ones in

the last year 1tself.

(1) expanding
(2) epidemuc
(3)  exponential
(4)  expatnate

Options :

1. % 1 gcollegedunias



Question Number : 154 Question Id : 7856743487 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0

Part 1: Meanings (sentences with dashes)

Being a person Ravi found 1t difficult to be very communicative with his clients.

(1) taciturn
(2)  rude

(3) talkative
(4)  harsh

Options :

1.9 1
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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The hospice provides care for the terminally 11l persons free of cost, without dealing with

the cause of thetr condition.

1)  healthful
2)  beneficial
3) palliative

4)  remedal

Sub-Section Number : 2
Sub-Section Id : 785674383
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 156 Question Id : 7856743489 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0
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The antonym of “descend’ 15

(1) resend
(2)  dissent
(3) ascend
(4)  decent

Options :

1. % 1

2. % 2

3.3

4. % 4

Question Number : 157 Question Id : 7856743490 Question Type : MCQ Option Shuffling : No
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Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

The synonym of ‘adversity’ 1s

(1) advertisement
(2)  musfortune
(3) accident

(4)  advantage

Options:
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4. % 4

Question Number : 158 Question Id : 7856743491 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

The antonym of ‘malevolent’ 15

(1) malicious
(2) cruel

(3)  violent

(4)  benevolent

Options :
1. % 1

2. % 2

Question Number : 159 Question Id : 7856743492 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms
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The synonym of ‘consequence’ 1s

(1)
2
3)
4

outcome
origin
sequence

income

Options:

Question Number : 160 Question Id : 7856743493 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

The synonym of ‘haughty’ 15

(1)  humble
(2)  hefty
(3) arrogant
(4)  naughty
Options :
1. % 1
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3.3

4, % 4

Sub-Section Number : 3
Sub-Section Id : 785674384
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 161 Question Id : 7856743494 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

The project work for the last twenty years.

(1) 1s gomngon
(2)  was going on
(3)  has been gomg on

(4)  1s bemng going on

Options :

1. % 1

Question Number : 162 Question Id : 7856743495 Question Type : MCQ (
gcollegeduniaé

Display Question Number : Yes Is Question Mandatory : No Calculator :



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

No sooner the book than he started working on another.
(1) has he fimshed
(2 had he finished
(3)  he had fimshed
(4)  he has finished
Options :
1. % 1
2.9 2
3.8 3
4. % 4

Question Number : 163 Question Id : 7856743496 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 3

: Verb (Tense & Voice)

The Central Government has launched Swachh Bharat Abhiyaan

(Change the voice)
(1)  The Central Government 1s launching Swachh Bharat Abhiyaan.
(2)  Swachh Bharat Abhryaan 1s being launched by the Central Government.
(3)  Swachh Bharat Abhiyaan was launched by the Central Government.
(4)  Swachh Bharat Abhryaan has been launched by the Central Government.
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Options :

Question Number : 164 Question Id : 7856743497 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

Complete the project at the earliest.
(Change the voice)

(1)  Letus complete the project at the earliest.

(2)  Let the project be completed at the earliest.

(3)  They are ordered to complete the project at the earliest.
(4)  Let the project 1s completed at the earhest.

Options :

Question Number : 165 Question Id : 7856743498 Question Type : MCQ Qn#inn Chufflina - Rina
Display Question Number : Yes Is Question Mandatory : No Calculator : g
collegedunia:s



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

You can apply for the job, when the notification

(1) will come
(2) 15 conung
(3) had come

(4)  comes
Options :
1. % 1

2. % 2

3. 3

4.¥ 4

Sub-Section Number : 4
Sub-Section Id : 785674385
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 166 Question Id : 7856743499 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms
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The tail of the cat looked as 1f 1t had been bitten by some animal.

(1) out
(2) off
(3) over
(4) on

Options :

Question Number : 167 Question Id : 7856743500 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

Unless everyone abides rules, there will be chaos 1n the community.

(1) by
(2) on
(3) with

(4) at

Options :

L
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4. % 4

Question Number : 168 Question Id : 7856743501 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

Vehicles were prevented entering mto the reserved parking areas.

(1) to

(2 by
(3) from
(4) for

Options :

Question Number : 169 Question Id : 7856743502 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms
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Fill 1 the blank with the correct idiom.

Vivek always gets by his team for over-indulging in sweets.

(1)  his arm pulled.
(2)  his hand pulled.
(3)  hus heart pulled.
(4)  hisleg pulled.

Options :

1. % 1

2.8 2

Question Number : 170 Question Id : 7856743503 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

Amita’s relatives stood by her through

(1) long and short.
(2)  thick and thin.
(3)  far and wide.
(4)  high and low.

Options:

1. % 1
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3. 3

4. % 4

Sub-Section Number : 5
Sub-Section Id : 785674386
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 171 Question Id : 7856743504 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions

Can you see a small blue bird on topmost branch of this tree?

(1) a
(2) the
(3) an
(4) mto

Options :

Question Number : 172 Question Id : 7856743505 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions

When are results of our entrance examination expected?
(1) a
(2) our
(3) the
(4) an
Options:
1. % 1
2. % 2
3.¥3
4. % 4

Question Number : 173 Question Id : 7856743506 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions

the time the ambulance arrived, they had taken him to a hospital nearby.

(1) Before

(2) Even

(3) When

(4) By
Options :
1.8 1

2. % 2 @collegedunias



Question Number : 174 Question Id : 7856743507 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions

Surprismngly, I always bump Madhu when I go for a walk.

(1) over
(2 into
(3) across

(4) off
Options :
1. % 1

2.9 2

3.# 3

Question Number : 175 Question Id : 7856743508 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions
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It 15 obvious that the Maths teacher and the English teacher very well.

(1) goalong
(2) give along
(3) getalong

(4) erow along

Options :

Sub-Section Number : 6
Sub-Section Id : 785674387
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 176 Question Id : 7856743509 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology

How many megabytes 15 equal to one gigabyte (in binary)?

(1) 1000

(2) 1024

(3) 10000

(4)  One mullion

Options : gconegedunias



Question Number : 177 Question Id : 7856743510 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology
FAT stands for

(1)  File Allocation Table
(2)  Fee Allocation Table
(3)  File Allotment Tray

(4)  File Allotment Table

Options:
1.9 1
2. % 2
3.% 3

4, % 4

Question Number : 178 Question Id : 7856743511 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology &col legedunia:



Home

(D
(2

3)
)

page 15

A doorway to the website.
An exit from the website.
Restart button of a computer

Exit button of a computer

Options :

1.9 1

2.8 2

3.# 3

4. % 4

Question Number : 179 Question Id : 7856743512 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Part 6: Computer Terminology
Internet surfing 15
(1) Internet cleaning programming.
(2)  Search for information on Internet.
(3)  Translating the language on Internet.
(4)  Deleting the search programme.
Options:
1. % 1
2. 2
3.% 3
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4. % 4

Question Number : 180 Question Id : 7856743513 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology

CPU stands for

(1) Computer Processing Unit.
(2)  Computer Programming Umnit.
(3)  Central Processing Umt.

(4) Calculation per Umt.

Options :

1. % 1

2. % 2

3.3

4, % 4

Sub-Section Number : 7
Sub-Section Id : 785674388
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 181 Question Id : 7856743514 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Part 7: Business Terminology

Additional cost mcurred by adding one more 1tem 1s called cost.
(1)  deferred
(2) referred
(3)  margimnal

(4) commercial

Options :
1. % 1

2. % 2

3.3

4. % 4

Question Number : 182 Question Id : 7856743515 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology

Working capital 15

(1)  current assets nunus current liabilities.
(2)  current liabilities plus current assets.
(3)  current liabilities minus current assets.

(4)  current assets only.

Options:
1.91
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® 2

4. % 4

Question Number : 183 Question Id : 7856743516 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology

“Thinking outside the box’ means the same as

(1)  Armchair thinking.
(2) Blacksky thinking.
(3) Radical thinkng.
(4) Lateral thinking.

Options :
1. % 1

2.1 2

Question Number : 184 Question Id : 7856743517 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology
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Money already spent and given 1s known by the name of

(1) sink costs

(2)  sunk costs

(3)  exorbitant costs
(4) transport costs

Options :
1. % 1
2.9 2
3. % 3

4. % 4

Question Number : 185 Question Id : 7856743518 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology

Amount that needs to be paid in case a particular event or circumstance occurs 1s called

(1) legal hiability

(2)  confingent Liability
(3)  avoidable Lability

(4)  neglected hability

Options :

3.%3 gcollegedunias



4. % 4

Sub-Section Number : 8
Sub-Section Id : 785674389
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743519 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (186 to 190)

Part 8: Comprehension

Diversity encompasses all those differences which make vs umque, ncludmg race,
colour, ethnicity, language, gender, age, physical and mental ability. In the context of the
workplace, diversity equals representation but diversity alone does not help achieve corporate
goals. Inclusion makes an organisation truly diverse.

Diversity can help achieve strategic goals and improve organizational outcomes. It 15
vital to make people feel valued and respected and have access to the same opportunities. The
need for inclusion and belonging 15 inherent m all human beings. Diversity m workforce 15
desirable to achieve expertise in various functions of an organisation. Buf often managers select
like-minded people with similar working styles for planning and holding important positions.
Some employees may experience subtle discrimmation by bemng excluded form mmportant
conversations.

At tumes the people who see themselves as different adopt a copmng mechanism to
conform the characteristics of the majorify. But when unique employees move towards the
norms of the homogeneous majority, it negates the positive impact of diversity within the group.
It becomes the responsibility of the leaders to encourage differences and utilize the varied
experiences of the employees. Inclustvity builds trust and lasting relationships based on mutual
respect. Diversity without inclusivity has no meaning and till individuals of all abilities are
fully mtegrated m the workforce, the orgamisation cannot be productive and innovative. An
nclusive environment creates a happy workplace where each individual feels welcome and
accepted.

Sub questions

Question Number : 186 Question Id : 7856743520 Question Type: MCQ C ="~ ~ 7" =~ - =*-
Display Question Number : Yes Is Question Mandatory : No Calculator : s
play Q Q y gcollegedunlas



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

What 15 desirable in workforce to achieve expertise in various functions of an organisation?

(D
(2)
3)
(4)

Planning
Belonging
Diversity
Decision-making

Options:

Question Number : 187 Question Id : 7856743521 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

What do most employees who see themselves as different do?

(D
)
(3)
(4

Adopt a coping mechanism.
Decide to resign and go else where.
Become reserved and aloof.

Force people to recognise them
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Options :

Question Number : 188 Question Id : 7856743522 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

Managers generally select people for important positions according to

(1)  their age and capability.

(2)  their sinulanify in thought and working styles.
(3)  ability to think differently.

(4)  tendency to bring up novel ideas.

Options:

Question Number : 189 Question Id : 7856743523 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0 gcollegeduniaé



Part 8: Comprehension

An inclusive environment can be created by

(1)  Recrurting fresh persons often and removing older people.

(2)  Creating a happy and conducive working environment for all employees
(3)  Collecting one’s best friends and supporters together.

(4) Encouraging people of different abilities to be mn the workforce.

Options :
1. % 1
2.9¥ 2
3. % 3

4. % 4

Question Number : 190 Question Id : 7856743524 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

‘What makes an organmisation diverse ?

(1)  Ethmcity.

(2)  Mental ability.
(3)  Physical activity.
(4) Inclusion.

Options :

1. % 1 gcollegedunias



2. % 2

3. % 3

4.¥ 4

Sub-Section Number : 9
Sub-Section Id : 785674390
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 7856743525 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (191 to 195)

Part 8: Comprehension

I believe that in the history of the world, there has not been a more genumely democratic
struggle for freedom than ours. Iread Carlyle’s French Revolution while I was mn prison, and
Pandit Jawaharlal has told me something about the Russian revolution. But it 1s my conviction
that in as much as these strupgles were fought with the weapon of violence, they failed to realize
the democratic 1deal. In the democracy which I have envisaged, a democracy established by
non-violence, there will be equal freedom for all. Everybody will be hus own master. It 1s to
join a struggle for such democracy that I mvite you today. Once you realize this you will forget
the differences between the Hindus and Mushims, and think of yourselves as Indians only,
engaged 1n the common struggle for independence.

Then, there 15 the question of your attitude towards the British. I'have noticed that there
15 hatred towards the British among the people. The people say they are disgusted with their
behaviour. The people make no distinction between British imperialism and the British people.
To them the two are one. Thus hatred would even make them welcome the Japanese. It 15 most
dangerous. It means that they will exchange one slavery for another. We must get rid of this
feeling. Our quarrel 1s not with the Brifish people, we fight their imperialism.

Sub questions

Question Number : 191 Question Id : 7856743526 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator :

: N.A Think Time : N.A Minimum Instruction Time : 0 gcollegedunias



Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

The speaker calls the Indian freedom struggle

(1)  violent

(2)  hateful

(3)  democratic
(4)  mpenalistic

Options :

Question Number : 192 Question Id : 7856743527 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

Which book did the speaker read while he was 1n jail?

(1) Glimpses of the World History
(2)  The French Revolution

(3) Russian Civil War

(4)  British Imperialism
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Options :

Question Number : 193 Question Id : 7856743528 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

According to the speaker, the foreign revolutions for freedom fell short of achieving :

(1)  the dictatorial 1deal
(2)  the bureaucratic 1deal
(3)  the democratic ideal

(4)  the religious 1deal

Options :

1. % 1

Question Number : 194 Question Id : 7856743529 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0 .
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Part 8: Comprehension

According to the speaker. our fight 1s with :

(1)
(2
3)
)

The British people

The Russian people
The Japanese people
The British colomalism

Options :

1. 8 1

2. % 2

3. % 3

4.4 4

Question Number : 195 Question Id : 7856743530 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

Which of the following statements. according to the speaker, 15 true in the context of freedom

struggle?

(1)
(2)
(3)
(4)

Indians should welcome the Japanese

There 15 no distinction between the British imperialism and the British people.
Both the Hindus and Muslims should be treated as Indians only.

Indians should hate the British people.
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Options :

1. % 1

2. % 2

3.¥3

4, % 4

Sub-Section Number : 10
Sub-Section Id : 785674391
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743531 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (196 to 200)

Part 8: Comprehension

Scientific management theory 1s a method of improving efficiency in the workforce.
As its name mmplies, this management theory uses scientific methods to assess work process.

The scientific method consists of three steps: observation, experimentation, and
analysts. In science, this could mean observing the effects of a treatment, experimenting with
a different treatment, and analysing the results. Simularly, managers use scienfific management
theory to observe their workplaces, test different methods of completing tasks, and analyse the
effect of the changes.

When properly implemented, scienfific management theory improves productivity. It
15 an evidence-based method that priontizes efficiency and reliability. Having scientifically
nigorous work methods 1n place creates clear expectations for employees because 1t establishes
a single night way to do things. It also gives managers a umfied standard agamst which to
evaluate their employees.

Scienfific management theory has grown exponentially since 1ts inception. There are
now a vanety of management strategies that fall under the umbrella label of scienfific
management theory. Each of these strategies has 1ts own set of strengths and weaknesses. It’s
mportant to do your own research mto scientific management theory to find the best
applications for 1t in your workplace.
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Sub questions

Question Number : 196 Question Id : 7856743532 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

The most appropriate title for this passage 1s

(1)

(2)  Management theories and science.
(3)  The management of scientific theory.
(4)  The Scientific Management theory.

Options :

1. % 1

2. % 2

3. % 3

4.9 4

Management through science.

Question Number : 197 Question Id : 7856743533 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension
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Which of the following 1s the correct order of the process of the scientific method?

(1)  Observation, analysis, experimentation.
(2)  Observation, experimentation, analysis.
(3)  Ewvidence, analysis, experimentation.

(4)  Analysis, experimentation, observation.
Options:
1. % 1
2.¥ 2

3. 3

4, % 4

Question Number : 198 Question Id : 7856743534 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

Which of the following 1s a false statement?

(1)  Several management theories can be grouped under scientific management theory.
(2)  Scienfific management theory 1s directly related to adeptness mn everyday functioning.
(3)  There 15 only one clear-cut scientific management theory

(4)  Scienfific management theory can be implemented by any manager.

Options:

1. 8 1

2. % 2 :
collegedunia:s



3.3

Question Number : 199 Question Id : 7856743535 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

The most appropriate antonym of the word ‘rigorous’ as used in the passage 1s

(1) easy-going
(2) panstaking
(3)  careful

(4)  demanding

Options:
1.9 1
2. % 2
3.% 3

4, % 4

Question Number : 200 Question Id : 7856743536 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension
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What kind of passage 15 this?

(1) Creative
(2)  Expository

(3) Humorous

(4)  Scientific

Options:
1. %1
2.9 2
3. % 3

4. % 4
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